Reference: EXAM / JPP / BITIC / PATNA / BBA-THIRD / MO/18 / 2018-2019

By the order of Examination committee, the following is the result of BBA - THIRD Semester held in the month of NOV-2018

Date: JAN-2019

SESSION	I : 2018-2019 CLASS : BI	ЗА			BRANCH	: MANA	AGEMENT						SE	MESTER /	TRIMES	ΓER : T	HIRD		MO	NTH OF EXAM	: NOV-2	2018
		U	BBA?	3001(3)	BBA	3003(3)	BBA:	3005(3)	BBA	3007(3)	BBA:	3009(2)	BBA	3011(3)	BBA	3002(2)	BBA1	001(3)				
ROLL NO	NAME	L	BBA1	1003(3)	BBA	1005(3)	BBA	1007(3)	BBA	1009(3)	BBA	2001(3)	BBA	2003(3)		-			TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				<u></u>
BBA/15001/17	KETAN SINGH	U	A	24.0	A+	27.0	B+	21.0	B+	21.0	С	10.0	A	24.0	B+	14.0	-	-	141.0	19.0	7.42	_
		L		-	-	-	-	-	-	-	-		-		-			-				<u> </u>
BBA/15002/17	SHRADDHA PANDEY	U	B+	21.0	A	24.0	A+	27.0	B+	21.0	A	16.0	A+	27.0	A	16.0	-	-	152.0	19.0	8.00	-
		L	-	- 27.0	-	-	-	-	<u> </u>		-	- 160	-	-	- D.	-	-	-				<u> </u>
BBA/15003/17	NAVNEET CHANDRA	Ţ	A+	27.0	Ex	30.0	A	24.0	A	24.0	A	16.0	A	24.0	B+	14.0	-	-	159.0	19.0	8.37	-
		II	A	24.0	A+	27.0	Δ	24.0	B+	21.0	A	16.0	A	24.0	A	16.0	-	<u> </u>				
BBA/15004/17	RASHMI KUMARI	L	-	24.0	- A	-	-	- 24.0	-	- 21.0	-	-	- A	24.0	-	- 10.0		-	152.0	19.0	8.00	-
		U	A	24.0	A+	27.0	A	24.0	B+	21.0	A	16.0	A+	27.0	A	16.0	-	-				<u> </u>
BBA/15005/17	RACHNA	L	-	-	-	-	-	-	-	- 1	-	-	i -	i -	-	-	-	-	155.0	19.0	8.16	-
BBA/15007/17	AATMAAAA	U	A+	27.0	Ex	30.0	Α	24.0	B+	21.0	A+	18.0	A+	27.0	A	16.0	-	-	163.0	19.0	8.58	
BBA/1500//1/	AATMAJAA	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	163.0	19.0	8.58	-
BBA/15008/17	RIYA KUMARI SINGH	U	A	24.0	A+	27.0	A	24.0	B+	21.0	B+	14.0	A	24.0	A	16.0	-	-	171.0	22.0	7.77	
BBA/13008/1/	RITA KUMARI SINGH	L	-	-	-	-	-	-	-	-	-	-	B+	21.0	-	-	-	-	1/1.0	22.0	7.77	-
BBA/15009/17	AAKRITI	U	A	24.0	A	24.0	Α	24.0	В	18.0	A	16.0	B+	21.0	A	16.0	-	-	143.0	19.0	7.53	
BBA 13009/17	AAKKIII	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	145.0	15.0	7.55	
BBA/15010/17	RAJIV NARAYAN RANJAN	U	A+	27.0	A+	27.0	A+	27.0	A	24.0	A	16.0	A+	27.0	В	12.0	-	-	160.0	19.0	8.42	_
		L		-	-	-	-	-		-	-	-	<u> </u>	-	-	<u> </u>	-	-				
BBA/15013/17	AKANKSHA NAMAN	U	Ex	30.0	Ex	30.0	A+	27.0	A	24.0	A+	18.0	A+	27.0	A	16.0	-		172.0	19.0	9.05	-
		L	-	- 24.0		- 24.0	-	24.0	- D:	- 21.0	- D:	- 140	-	27.0	-	- 160	-					
BBA/15014/17	PALAK	T	A	24.0	A	24.0	A	24.0	B+	21.0	B+	14.0	A+	27.0	A	16.0	-	-	150.0	19.0	7.89	-
		U	Ex	30.0	A+	27.0	B+	21.0	A	24.0	В	12.0	A+	27.0	B+	14.0	-	-				
BBA/15015/17	AMBEY SINHA	L	-	-		-	-	-		-	-	-	-	-	-		-	-	155.0	19.0	8.16	-

OUNTING ANAGEMENT

Controller of Examinations

Disclaimer

Reference: EXAM / JPP / BITIC / PATNA / BBA-THIRD / MO/18 / 2018-2019

By the order of Examination committee, the following is the result of BBA - THIRD Semester held in the month of NOV-2018

Date : JAN-2019

SESSION	N : 2018-2019 CLASS : B	BA			BRANCH	: MANA	AGEMENT	Γ					SE	MESTER /	TRIMES	ΓER : TI	·IIRD		MO	NTH OF EXAM	: NOV-2	.018
		U	BBA:	3001(3)	BBA:	3003(3)	BBA	3005(3)	BBA:	3007(3)	BBA	3009(2)	BBA:	3011(3)	BBA	3002(2)	BBA1	001(3)				
ROLL NO	NAME	L	BBA	1003(3)	BBA	1005(3)	BBA	.1007(3)	BBA	1009(3)	BBA	2001(3)	BBA	2003(3)		-			TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BBA/15017/17	SOUMYA VERMA	U	B+	21.0	A+	27.0	B+	21.0	B+	21.0	В	12.0	B+	21.0	B+	14.0	-	-	137.0	19.0	7.21	-
		L	-	-	-	-	<u> </u>	-	-	-	-	-	<u> </u>	-		-		-				
BBA/15018/17	PALLAVI KUMARI	U	A+	27.0	A .	24.0	A	24.0	В	18.0	В	12.0	A	24.0	B+	14.0	-	-	143.0	19.0	7.53	-
	<u> </u>	U	D.	12.0	F	0.0	D	12.0	F	0.0	D	8.0	D	12.0	D	8.0	-	-				
BBA/15020/17	SAHIL RAJ	L	-	-	-	-	-	-	-	-	-	-		-	-	-	-	-	52.0	19.0	2.74	-
DD + /15000/15	avpapy vin ()	U	D	12.0	С	15.0	D	12.0	D	12.0	С	10.0	D	12.0	F	0.0	-	-	00.0	22.0	4.00	
BBA/15022/17	SUBODH KUMAR	L	C	15.0	-	-	-	-	-	-	-	-		-	-	-	-	-	88.0	22.0	4.00	-
BBA/15023/17	SONALI	U	A+	27.0	A+	27.0	A+	27.0	B+	21.0	В	12.0	Α	24.0	B+	14.0	-	-	152.0	19.0	8.00	_
22.113023/17	561.1.12.1	L	-	-	-	-		-	-	-	-	-		-		-	-	-	132.0	17.0	0.00	
BBA/15024/17	AYUSH RAJ	U	B+	21.0	A+	27.0	B+	21.0	B+	21.0	В	12.0	A	24.0	B+	14.0	-	-	140.0	19.0	7.37	-
		L	-	-	-	-	-	-	-	-	-	-		-	-	-	-	-				
BBA/15026/17	ANNU PRIYA	U	A+	27.0	Ex	30.0	A	24.0	A	24.0	A+	18.0	A	24.0	A	16.0	-	-	163.0	19.0	8.58	-
		L	-	-	-	-	-	-	-	-	-	-		-	-	-	-	-				
BBA/15027/17	PRAKRITI PUSHP	U	Ex	30.0	A+	27.0	A+	27.0	A	24.0	A+	18.0	A+	27.0	B+	14.0	-	-	167.0	19.0	8.79	-
		L	В	18.0	В	18.0	В	18.0	В	18.0	C	10.0	- A	24.0	В	12.0	-	-				
BBA/15028/17	ASHISH KUMAR	L	-	- 18.0	-	- 18.0	-	- 16.0	-	- 16.0	-	-	-	24.0	-	12.0	_		118.0	19.0	6.21	-
		U	Ex	30.0	Ex	30.0	A+	27.0	A+	27.0	A+	18.0	A+	27.0	A	16.0	-	-				
BBA/15029/17	SHIVANGI PUJA	L	-	-	-	-	-	i -	-	-	-	-	-		-	-	-	-	175.0	19.0	9.21	-
BBA/15032/17	SHUBHANGI SUMAN	U	A+	27.0	A+	27.0	A	24.0	A	24.0	В	12.0	A+	27.0	A	16.0	-	- 1	157.0	19.0	8.26	_
DDA/13032/1/	SHODHANGI SUWAN	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	137.0	17.0	0.20	
BBA/15033/17	ADITI SINHA	U	Ex	30.0	Ex	30.0	A+	27.0	A	24.0	A+	18.0	A+	27.0	A	16.0	-	-	172.0	19.0	9.05	-
		L	-	-	-	-		-	-		-			-								

Controller of Examinations

Disclaimer

Reference: EXAM/JPP/BITIC/PATNA/BBA-THIRD/MO/18/2018-2019
By the order of Examination committee, the following is the result of BBA - THIRD Semester held in the month of NOV-2018

Date: JAN-2019

SESSION	N : 2018-2019 CLASS : B	BA			BRANCH	: MANA	AGEMEN"	Γ					SE	MESTER /	TRIMES	ΓER : TI	IIRD		MO	NTH OF EXAM	: NOV-2	2018
ROLL NO	NAME	U		3001(3)		3003(3)		3005(3)		3007(3)		3009(2)		3011(3)	BBA	3002(2)	BBA1	001(3)	TOTAL CREDIT	TOTAL	SGPA	REMARKS
ROLL NO	NAME	L	GR.	1003(3) PT.	BBA GR.	1005(3) PT.	GR.	1007(3) PT.	BBA GR.	1009(3) PT.	GR.	2001(3) PT.	BBA: GR.	2003(3) PT.	GR.	PT.	GR.	PT.	POINTS	CREDITS	SGPA	REMARKS
		U	B+	21.0	A A	24.0	B+	21.0	B+	21.0	A A	16.0	A	24.0	B+	14.0	- GIC.	-				
BBA/15034/17	ADITI	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	141.0	19.0	7.42	-
BBA/15036/17	ASHISH KUMAR	U	B+	21.0	B+	21.0	B+	21.0	B+	21.0	В	12.0	B+	21.0	B+	14.0	-	-	131.0	19.0	6.89	_
		L		<u> </u>	-	-		-	-	-		-	-	-		-	-					
BBA/15037/17	SOURAV CHAKRABORTY	T	A+	27.0	A	24.0	A+	27.0	A	24.0	A	16.0	A	24.0	A	16.0	-		158.0	19.0	8.32	-
		U	C	15.0	C	15.0	A+	27.0	C	15.0	В	12.0	В	18.0	В	12.0	-	_				
BBA/15039/17	HARSH BHUSHAN	L	i -	i -	-	-	-	i -	-	-	-	-	<u> </u>	-	-	-	-	-	114.0	19.0	6.00	-
BBA/15040/17	MANAS	U	С	15.0	С	15.0	С	15.0	D	12.0	С	10.0	С	15.0	B+	14.0	-	-	96.0	19.0	5.05	_
BB10 13040/17	MINIO	L	-	-		-	-	-	-	-	-	-	-	-	-	-	-	-	70.0	15.0	3.03	
BBA/15043/17	SHOBHIT RAJ	U	В	18.0	B+	21.0	В	18.0	С	15.0	B+	14.0	B D	18.0 12.0	B+	14.0	-	-	130.0	22.0	5.91	-
		L	-	24.0		24.0	В	18.0	B+	21.0	B+	14.0	B+	21.0	B+	14.0	-	-				
BBA/15044/17	AARTI	ī	A	24.0	- A	24.0	ь	18.0	Б⊤	21.0	В⊤	14.0	Б⊤	21.0	Б⊤	14.0	-	-	136.0	19.0	7.16	-
		U	A	24.0	B+	21.0	В	18.0	В	18.0	В	12.0	B+	21.0	B+	14.0		-				
BBA/15045/17	SHANTANU MOHAN	L	i -	i -	-	-	-	<u> </u>	-	-	-	-	<u> </u>	-	-	-	-	-	128.0	19.0	6.74	-
BBA/15046/17	VISHNU KUMAR	U	B+	21.0	В	18.0	С	15.0	В	18.0	С	10.0	B+	21.0	B+	14.0	-	-	117.0	19.0	6.16	_
BB1013040/17	VISING ROMAN	L		<u> </u>	-	-	-	<u> </u>	-	-		-	-	-	-	-	-	-	117.0	15.0	0.10	
BBA/15047/17	SHIVAM	U	С	15.0	В -	18.0	D	12.0	F	0.0	В	12.0	В	18.0	B+	14.0	-	-	89.0	19.0	4.68	-
	<u> </u>	U	A+	27.0	A	24.0	B+	21.0	B+	21.0	A	16.0	B+	21.0	В	12.0		-				
BBA/15048/17	SHUBHAM KUMAR	L	-	-		-	-	-	-	-	-	-	-	-	-	-	-	-	142.0	19.0	7.47	-
BBA/15049/17	SHEFALI SURI	U	A	24.0	B+	21.0	B+	21.0	B+	21.0	A	16.0	Α	24.0	A	16.0	-	-	143.0	19.0	7.53	_
DDA/13047/1/	SHEFALI SUKI	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	145.0	17.0	1.55	

BBA3001(3) BBA3003(3) BBA3005(3) BBA3007(3)	: RESEARCH METHODOLOGY : HUMAN RESOURCE MANAGEMENT : LEGAL ASPECTS OF MANAGEMENT : INTRODUCTION TO FINANCIAL MARKETS	BBA1003(3) BBA1005(3) BBA1007(3) BBA1009(3)	: BUSINESS STATISTICS : BUSINESS ECONOMICS : INTRODUCTION TO BUSINESS ACCOUNTING : FUNDAMENTALS OF COMPUTING
BBA3009(2)	: FINANCIAL ACCOUNTING	BBA2001(3)	: ORGANIZATIONAL BEHAVIOR
BBA3011(3)	: PRINCIPLES OF MARKETING II	BBA2003(3)	: QUANTITATIVE TECHNIQUES IN MANAGEMENT
BBA3002(2)	: WEB APPLICATIONS FOR BUSINESS LAB	-	:
BBA1001(3)	: GENERAL PRINCIPLES OF MANAGEMENT	-	

Controller of Examinations

Disclaimer

Reference: EXAM / JPP / BITIC / PATNA / BBA-THIRD / MO/18 / 2018-2019

By the order of Examination committee, the following is the result of BBA - THIRD Semester held in the month of NOV-2018

Date: JAN-2019

SESSION	N : 2018-2019 CLASS : B	BA			BRANCH	: MANA	AGEMENT	Γ					SE	MESTER /	TRIMES	ΓER : TI	IIRD		MO	NTH OF EXAM	: NOV-2	2018
B 0 1 1 1 1 0	N. M.	U		3001(3)		3003(3)		3005(3)		3007(3)		3009(2)		3011(3)	BBA	3002(2)	BBA1	001(3)	TOTAL CREDIT	TOTAL		
ROLL NO	NAME	L	GR.	1003(3) PT.	BBA GR.	1005(3) PT.	BBA GR.	.1007(3) PT.	BBA GR.	1009(3) PT.	GR.	2001(3) PT.	BBA GR.	2003(3) PT.	GR.	PT.	GR.	PT.	POINTS	CREDITS	SGPA	REMARKS
		U	B+	21.0	C C	15.0	C C	15.0	C C	15.0	C C	10.0	B+	21.0	B+	14.0		-		1		
BBA/15050/17	ASHWIN HARSH	L	i -	<u>" - </u>	-	-	-	-	-	-	-	-	<u> </u>	-	-	-	-	-	111.0	19.0	5.84	-
BBA/15051/17	SAQUIB RAZA	U	В	18.0	A	24.0	В	18.0	В	18.0	B+	14.0	В	18.0	B+	14.0	-	-	124.0	19.0	6.53	_
BBA/13031/17	SAQUID KAZA	L				-	-	-	-	-	-	-	-	-	-	-	-	-	124.0	15.0	0.55	
BBA/15053/17	ASTHA JHA	U	A	24.0	B+	21.0	B+	21.0	B+	21.0	B+	14.0	B+	21.0	B+	14.0	-	-	151.0	22.0	6.86	-
	<u> </u>	L	- A+	27.0	- B+	21.0	- В	18.0	- B	18.0	C B+	15.0	- B+	21.0	- A	16.0	-	-				
BBA/15054/17	SHIVANGI SHARMA	L	- A	27.0	-	-	-	- 16.0	-	-	-	-	-	-	-	-	-	-	135.0	19.0	7.11	-
DD 1 // 5055// 5	DIGWERT	U	B+	21.0	В	18.0	В	18.0	В	18.0	В	12.0	B+	21.0	A	16.0	-	-	124.0	10.0		
BBA/15055/17	RISHIKESH	L	-	-		-	-	-	-	-	-	-	-	-	-	- 1	-	-	124.0	19.0	6.53	•
BBA/15056/17	AASTHA	U	B+	21.0	B+	21.0	B+	21.0	В	18.0	В	12.0	A	24.0	B+	14.0	-	-	131.0	19.0	6.89	_
		L	<u> </u>	-		-	-	-	-	-	-	-	-	-	-		-	-				
BBA/15057/17	SHIVASHISH TEK	U	С	15.0	B+	21.0	В	18.0	С	15.0	В	12.0	С	15.0	A	16.0	-	-	112.0	19.0	5.89	-
		L	-	27.0	- B+	21.0	- D:	21.0	B+	21.0	- D.	14.0	-	24.0	B+	14.0	-	-				
BBA/15058/17	RIYA VERMA	L	A+	27.0	- Бт	21.0	B+	21.0	D⊤	21.0	B+	14.0	A -	24.0	_ Б⊤	14.0			142.0	19.0	7.47	-
		U	B+	21.0	В	18.0	С	15.0	В	18.0	В	12.0	A	24.0	B+	14.0	-	-				
BBA/15059/17	PRITANSH KISHORE	L	-	i -	-	-	-	-	-	-	-	-	<u> </u>	-	-	-	-	-	122.0	19.0	6.42	-
BBA/15060/17	RITESH RAJ	U	B+	21.0	В	18.0	С	15.0	В	18.0	D	8.0	В	18.0	B+	14.0	-	-	112.0	19.0	5.89	_
	<u> </u>	L	-	-	-	-	-	-	-	-		-	-	-		-	-					
BBA/15061/17	MADHUSUDAN KUMAR	Ţ	B+	21.0	C -	15.0	C	15.0	С	15.0	В	12.0	С	15.0	B+	14.0	-	-	107.0	19.0	5.63	-
	<u> </u>	U	В	18.0	B+	21.0	В	18.0	В	18.0	C	10.0	B+	21.0	A	16.0	-	-		<u> </u>		
BBA/15062/17	NAMAN ARYA	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	122.0	19.0	6.42	-

BBA3001(3)	: RESEARCH METHODOLOGY	BBA1003(3)	: BUSINESS STATISTICS
BBA3003(3)	: HUMAN RESOURCE MANAGEMENT	BBA1005(3)	: BUSINESS ECONOMICS
BBA3005(3)	: LEGAL ASPECTS OF MANAGEMENT	BBA1007(3)	: INTRODUCTION TO BUSINESS ACCOUNTING
BBA3007(3)	: INTRODUCTION TO FINANCIAL MARKETS	BBA1009(3)	: FUNDAMENTALS OF COMPUTING
BBA3009(2)	: FINANCIAL ACCOUNTING	BBA2001(3)	: ORGANIZATIONAL BEHAVIOR
BBA3011(3)	: PRINCIPLES OF MARKETING II	BBA2003(3)	: QUANTITATIVE TECHNIQUES IN MANAGEMENT
BBA3002(2)	: WEB APPLICATIONS FOR BUSINESS LAB	-	:
BBA1001(3)	: GENERAL PRINCIPLES OF MANAGEMENT	-	

Controller of Examinations

Disclaimer

Reference: EXAM/JPP/BITIC/PATNA/BBA-THIRD/MO/18/2018-2019
By the order of Examination committee, the following is the result of BBA - THIRD Semester held in the month of NOV-2018

Date: JAN-2019

SESSION	N : 2018-2019 CLASS : BI	BA			BRANCH	: MANA	AGEMENT	Γ					SE	MESTER /	TRIMES	ΓER : TI	IIRD		MO	NTH OF EXAM	: NOV-2	2018
B 0 1 1 1 1 0	N. M.	U		3001(3)		3003(3)		3005(3)		3007(3)		3009(2)		3011(3)	BBA	3002(2)	BBA1	001(3)	TOTAL CREDIT	TOTAL		DELLIBER
ROLL NO	NAME	L	GR.	1003(3) PT.	BBA GR.	1005(3) PT.	BBA GR.	.1007(3) PT.	BBA GR.	1009(3) PT.	GR.	2001(3) PT.	BBA GR.	2003(3) PT.	GR.	PT.	GR.	PT.	POINTS	CREDITS	SGPA	REMARKS
		U	B+	21.0	В	18.0	C C	15.0	В	18.0	C C	10.0	C.	15.0	B+	14.0	- GIC.	-				
BBA/15063/17	ANKIT	L	-	ji -	-	-	-	-	-	-	-	-	F	0.0	-	-	-	-	111.0	22.0	5.05	-
BBA/15064/17	MAYANK PATEL	U	B+	21.0	A+	27.0	B+	21.0	B+	21.0	A	16.0	A	24.0	B+	14.0	-	-	144.0	19.0	7.58	
		L		<u> </u>	-	-			-	-		-	-	-		-	-					<u> </u>
BBA/15065/17	SHIKHA SUMAN	Ţ	A+	27.0	A	24.0	B+	21.0	В	18.0	B+	14.0	B+	21.0	B+	14.0	-		139.0	19.0	7.32	-
	<u> </u>	U	A	24.0	B+	21.0	В	18.0	В	18.0	B+	14.0	B+	21.0	B+	14.0	-				<u> </u>	
BBA/15066/17	AMAN MISHRA	L	-	1 -	_	-	-	-	-	-	-	-	-	-	-	-	-	-	130.0	19.0	6.84	-
BBA/15067/17	VAISHNAVI PRAKASH	U	A	24.0	В	18.0	В	18.0	В	18.0	В	12.0	А	24.0	B+	14.0	-	-	158.0	25.0	6.32	<u> </u>
BBA/1300//1/	VAISHIVAVITRAKASII	L	-		D	12.0	В	18.0	-	-	-	-	-		-	-	-	_	138.0	23.0	0.52	
BBA/15068/17	AVINASH KUMAR	U	A	24.0	A	24.0	В	18.0	B+	21.0	B+	14.0	A	24.0	A	16.0	-	-	141.0	19.0	7.42	-
		L	<u> </u>	-		-	-	-	-	-		-	-	-		-	-				-	
BBA/15069/17	TANYA	Ţ	A	24.0	A	24.0	B+	21.0	В	18.0	В	12.0	A	24.0	B+	14.0	-		137.0	19.0	7.21	-
		II	- C	15.0	- C	15.0	- C	15.0	-	15.0	D	8.0	- C	15.0	B+	14.0	-	_			 	
BBA/15070/17	ABHAY KUMAR	L	-	-	-	-	-	-	B+	21.0	-	-	-	-	-	-	-	-	118.0	22.0	5.36	-
BBA/15071/17	CHETNA MUKUND	U	A+	27.0	A+	27.0	B+	21.0	B+	21.0	B+	14.0	A+	27.0	B+	14.0	-	-	151.0	19.0	7.95	
BBA/130/1/1/	CHEINA MUKUND	L	-	<u> - </u>		-	-		-	-	-	-	<u> </u>	<u> </u>	-	-	-	-	131.0	19.0	7.93	
BBA/15072/17	SOURAV KUMAR	U	F	0.0	F	0.0	F	0.0	F	0.0	F	0.0	F	0.0	F	0.0	-		00.0	19.0	0.00	-
	<u> </u>	L	Ex	30.0	Ex	30.0	- A	24.0	- A	24.0	- A+	18.0	- A+	27.0	- A	16.0	-	-			<u> </u>	
BBA/15073/17	SRIVASTAVA SAUMYA	L	- EX	30.0	- EX	- 30.0	A -	- 24.0	- A	- 24.0	A ⁺	- 16.0	A⊤ -		A -	- 10.0	-	-	169.0	19.0	8.89	-
DD 4 /15054/5-	D. V. V. V. V. D.	U	B+	21.0	A	24.0	В	18.0	B+	21.0	B+	14.0	A	24.0	B+	14.0	-	-	1260	10.0	7.16	
BBA/15074/17	RAJAN KUMAR	L	-	-	-	-	-	-	-	-	-	-		-	-	-		-	136.0	19.0	7.16	-

BBA3001(3) BBA3003(3) BBA3005(3) BBA3007(3)	: RESEARCH METHODOLOGY : HUMAN RESOURCE MANAGEMENT : LEGAL ASPECTS OF MANAGEMENT : INTRODUCTION TO FINANCIAL MARKETS	BBA1003(3) BBA1005(3) BBA1007(3) BBA1009(3)	: BUSINESS STATISTICS : BUSINESS ECONOMICS : INTRODUCTION TO BUSINESS ACCOUNTING : FUNDAMENTALS OF COMPUTING
BBA3009(2) BBA3011(3)	: FINANCIAL ACCOUNTING : PRINCIPLES OF MARKETING II	BBA2001(3) BBA2003(3)	: ORGANIZATIONAL BEHAVIOR : QUANTITATIVE TECHNIQUES IN MANAGEMENT
BBA3002(2) BBA1001(3)	: WEB APPLICATIONS FOR BUSINESS LAB : GENERAL PRINCIPLES OF MANAGEMENT	· ·	:

Controller of Examinations

Disclaimer : Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.

Disclaimer

Reference: EXAM / JPP / BITIC / PATNA / BBA-THIRD / MO/18 / 2018-2019

By the order of Examination committee, the following is the result of BBA - THIRD Semester held in the month of NOV-2018

Date: JAN-2019

SESSION	N : 2018-2019 CLASS : BI	BA			BRANCH	: MANA	AGEMEN'	Γ					SE	MESTER /	TRIMES	ΓER : TI	HIRD		MO	NTH OF EXAM	: NOV-2	2018
DOLL NO	NAME	U		3001(3)		3003(3)		3005(3)		3007(3)		3009(2)		3011(3)	BBA	3002(2)	BBA1	001(3)	TOTAL CREDIT	TOTAL	SGPA	DEMARKS
ROLL NO	NAME	L	GR.	1003(3) PT.	BBA GR.	1005(3) PT.	GR.	.1007(3) PT.	BBA GR.	1009(3) PT.	GR.	2001(3) PT.	BBA GR.	2003(3) PT.	GR.	PT.	GR.	PT.	POINTS	CREDITS	SGPA	REMARKS
		U	A+	27.0	B+	21.0	B+	21.0	B+	21.0	A	16.0	A A	24.0	B+	14.0	- GK.	-		ļ		ļ
BBA/15075/17	SAUMYA RAJ	L	<u> </u>	1 -		-	-	-	-	-	-	-	<u> </u>	<u> </u>	-	-	-	-	144.0	19.0	7.58	-
BBA/15076/17	NITYA NANDINI SHAH	U	A	24.0	A+	27.0	B+	21.0	B+	21.0	В	12.0	A	24.0	B+	14.0	-	-	164.0	22.0	7.45	ĺ
BBA/130/0/1/	NII I'A NANDINI SHAII	L	-	<u> - </u>	-	-	B+	21.0	-	-	-	-		-	-	-	-	-	104.0	22.0	7.43	
BBA/15077/17	KRITIKA	U	A	24.0	B+	21.0	A	24.0	В	18.0	В	12.0	A	24.0	B+	14.0	-		137.0	19.0	7.21	-
		L	- C	15.0	- C	15.0	- В	18.0	-	15.0	- D:	14.0	- B+	21.0	- D:	14.0		-				
BBA/15078/17	SHIVAM YAGNIK	ī	-	15.0		15.0	В	18.0	-	15.0	B+	14.0	B+	21.0	B+	14.0	-		112.0	19.0	5.89	-
		U	В	18.0	B+	21.0	В	18.0	D	12.0	В	12.0	С	15.0	B+	14.0		-			<u> </u>	
BBA/15080/17	SNEHA SINGH	L	Ĭ -	i -	-	-	F	0.0	-	-	-	-	-	i -	-	- 1	-	-	110.0	22.0	5.00	-
BBA/15081/17	GAURAV KUMAR	U	С	15.0	С	15.0	С	15.0	С	15.0	В	12.0	В	18.0	В	12.0	-	-	102.0	19.0	5.37	_
BBA 13081/17	GAUKAV KUWAK	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	102.0	15.0	3.37	
BBA/15082/17	OM ANAND	U	В	18.0	B+	21.0	С	15.0	В	18.0	С	10.0	В	18.0	A	16.0	-	-	116.0	19.0	6.11	
		L	-	-	-	-	-	-	-	-	-	_	-	-	-	-	-	-				
BBA/15083/17	PRASHANT VERMA	U	С	15.0	В	18.0	В	18.0	С	15.0	B+	14.0	В	18.0	B+	14.0	-	-	145.0	25.0	5.8	-
		L	- A	24.0	- B+	21.0	В	18.0	- B	18.0	В	12.0	C B+	15.0 21.0	- B+	14.0		-			-	
BBA/15084/17	ADARSH SINGH	L	A .	24.0	D⊤ -	21.0	- Б	16.0	- Б	16.0	-	12.0	Б+	21.0	Б+	14.0	<u> </u>		128.0	19.0	6.74	-
		U	B+	21.0	A	24.0	B+	21.0	В	18.0	В	12.0	B+	21.0	B+	14.0	-	-				
BBA/15085/17	SHREYA	L	i –	-	-		-		-	-			<u> </u>	-	<u> </u>				131.0	19.0	6.89	-
BBA/15086/17	PALAK KAUSHIK	U	A+	27.0	A	24.0	B+	21.0	В	18.0	Α	16.0	A	24.0	A	16.0	-	-	146.0	19.0	7.68	_
DD/V13000/1/	THE IN KNOOME	L			-	-	-		-		-	-	-	-					140.0	19.0	7.08	
BBA/15087/17	ADITYA SHIVAM	U	A	24.0	A	24.0	В	18.0	В	18.0	В	12.0	D	12.0	B+	14.0	-	-	122.0	19.0	6.42	-

BBA3001(3) BBA3003(3) BBA3005(3) BBA3007(3)	: RESEARCH METHODOLOGY : HUMAN RESOURCE MANAGEMENT : LEGAL ASPECTS OF MANAGEMENT : INTRODUCTION TO FINANCIAL MARKETS	BBA1003(3) BBA1005(3) BBA1007(3) BBA1009(3)	: BUSINESS STATISTICS : BUSINESS ECONOMICS : INTRODUCTION TO BUSINESS ACCOUNTING : FUNDAMENTALS OF COMPUTING
BBA3009(2) BBA3011(3) BBA3002(2) BBA1001(3)	: FINANCIAL ACCOUNTING : PRINCIPLES OF MARKETING II : WEB APPLICATIONS FOR BUSINESS LAB : GENERAL PRINCIPLES OF MANAGEMENT	BBA2001(3) BBA2003(3)	: ORGANIZATIONAL BEHAVIOR : QUANTITATIVE TECHNIQUES IN MANAGEMENT :

Controller of Examinations

Disclaimer

Reference: EXAM / JPP / BITIC / PATNA / BBA-THIRD / MO/18 / 2018-2019

By the order of Examination committee, the following is the result of BBA - THIRD Semester held in the month of NOV-2018

Date: JAN-2019

SESSION	: 2018-2019 CLAS	S : BBA	: BBA BRANCH : MANAGEMENT								SEMESTER / TRIMESTER : THIRD								MONTH OF EXAM : NOV-2018			
ROLL NO	NAME	I		BBA3001(3) BBA1003(3)		BBA3003(3) BBA1005(3)		BBA3005(3) BBA1007(3)		BBA3007(3) BBA1009(3)		BBA3009(2) BBA2001(3)		BBA3011(3) BBA2003(3)		BBA3002(2)		001(3)	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	<u> </u>			
BBA/15088/17	ATUL RANJAN	Ţ	J B	18.0	A	24.0	B+	21.0	C	15.0	C	10.0	B+	21.0	B+	14.0	-	-	123.0	22.0	5.59	-
	ATTOE IGHO/HV	I			<u> </u>	-				-	-	-	F	0.0	-	-	-	- 1				
BBA/15089/17	PIYUSH ANAND	Ţ	J B	18.0	В	18.0	С	15.0	В	18.0	В	12.0	В	18.0	B+	14.0	-	-	113.0	19.0	5.95	-
		I	<u> </u>		<u> </u>	-			_	-	-	_	-	-	-	-	-	-				
BBA/15091/17	RISHAV SINGH	Ţ	J F	0.0	F	0.0	F	0.0	F	0.0	F	0.0	F	0.0	F	0.0	-	-	00.0	19.0	0.00	-
		I		-	-	-	-	-	-	-	-	-	-	-	-	-	-	-				
BBA/15092/17	ASHWANI KUMAR	Ţ	J D	12.0	D	12.0	F	0.0	F	0.0	F	0.0	F	0.0	D	8.0	-	- 1	32.0	19.0	1.68	-
	ASHWANI KUMAK	I	: <u>-</u>	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-				
BBA/15093/17	SYED AWEZ ANJUM	τ	J B+	21.0	C	15.0	С	15.0	C	15.0	C	10.0	В	18.0	A	16.0	-	-	110.0	19.0	5.79	-
	STED AWEZ ANJON	I	_	-	-	-	-	-	-	-	-	-	-	-	-	- 1	-	-				
BBA/15094/17	AROHI RAJ	U	J Ex	30.0	Ex	30.0	A+	27.0	A	24.0	A+	18.0	A+	27.0	A	16.0	-	-	172.0	19.0	9.05	-
	AKOIII KAJ	I	_	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-				

BBA3001(3) BBA3003(3) RESEARCH METHODOLOGY HUMAN RESOURCE MANAGEMENT BBA1003(3) BBA1005(3) BUSINESS STATISTICS BUSINESS ECONOMICS BBA3005(3) LEGAL ASPECTS OF MANAGEMENT BBA1007(3) INTRODUCTION TO BUSINESS ACCOUNTING BBA3007(3) INTRODUCTION TO FINANCIAL MARKETS BBA1009(3) FUNDAMENTALS OF COMPUTING BBA3009(2) FINANCIAL ACCOUNTING BBA2001(3) ORGANIZATIONAL BEHAVIOR
QUANTITATIVE TECHNIQUES IN MANAGEMENT BBA3011(3) PRINCIPLES OF MARKETING II BBA2003(3) BBA3002(2) : WEB APPLICATIONS FOR BUSINESS LAB : GENERAL PRINCIPLES OF MANAGEMENT BBA1001(3)

Controller of Examinations

Disclaimer

Disclaimer